T T WS
<EESA Jw,mo 2,690 2 K777 0 M AR LEESA LEESA
3694 1210 2,075 1,165 B 369 4 2075 1,165 s 4 1210 2,075 1,165 L
605 605 Sp -T2 =) b S 0=k S¢0-J-2 S 0-)—h
BiioAn Bit0%, Bftd07 Bty nE A5
= W-TTE 85 =1,040 4 = 5 =1,040 4 0 2,000 25
2 “ = 0 1,960 0| |an2u7EE
e = 2 H = 07D IV-#v9 2 H OnT-HED) & g H
G- N - boursvrl 88 7 1L 8 G - w M S 8 - =M HI 25 2
ExS54 E N N — I T 1f o | 7;1;:4;2411@ E HESL n ) . T T o I 7;1;:4;2411@ HESLY = R T T T = ‘/&%ﬁﬁm
v = P - i i T k| < N 2 S H E—— i 7 L < N é‘& HIEE = N <
o AE miECA - = N A R o — ST Y| e = =\ H
_j// = | N i P E = = i Lpl =y b i
e = i S n - \ % o o o & 519 70 c> =
S B 2 2 H [555+10 2 2 =N i LT | = &
7/ | sl | O 1,155 2 1,980 = 4 = IRE - N
v ‘ o | 40D [ 4 SO 3 a : €
1 | IrJ_m I 1 Sl o V. wlw — = H
o T B > Ao R H = = i 2l @ [ g — o TR Eig —= it
S / g T —— & - S g s = o & I 7 =
2 / (i e = S 2 s -1 ! = > == m T30 ] 2 | T
= = q B3 1 T S = g e I \ B ! = $ i e b
|/ vz 1 /Lﬁﬁt)ﬂ:ﬂ\. ‘ | | | | “‘ § 2 BIEI270 | g\ - - ~ T "/" J‘U . | |
2 FET004 = < , =3 =] ;
= IS 2 %ﬂz 1 517 54l gmi%m% s 2 5? . 60, 54 B = — “ |
= T i 5 g 1H4SHHDE m‘\ SE | T 1l |45 —o—=—1 Qs
= . - , g | -
[Euk3 =] o 7 | | [Euk3 =] o 7 N | | [Elar3 = B fl | |
a E s . I . a g [ L | ] / I g = Ng
= " 5
i 7% | 885 2 s " / f ; s P | cf .
7[ ot ENiRN SE yMfa{ph— : 2 7508 i 20 665 g =
20t SH L < 3078 1615 UEF I
B ! = B 20-des b B B i
= 450 L [N ] = 49 5e0\ 54 =
T I 2 T M
- ‘ b T - =] TNzew, |, . Ng I
< N = 3 21 0 12142 H S H
Bl | | L IS I % 1590 \ 112 & - I T N | g 4]
e @ z_ M SN i B2 \ g i
S hb7s T — = f— | 5
° 7 Awle ;x FENOYI- r 1 b-—Fo t 5 M i
= 5 =265 || (H=750) ®]l|]55 g I | = - = 665 |
l S (B & g o = = L g |l = 5 L as 5
i iE H < H HiE i iE g 4 L ! HiE 2t b = m [ 4T
BT 3] [ \vi v | v S = = | v
[ [ [ [ I [ [ [ ] 1] * AN [ \ [ ]l L]
|| 401 1330 800 l L J m ] T J— | T T =l
310 - i - 490 545, 6105 54500 6105|915 =910 4 ‘ i 2620 zoﬂ P
(kE8)  WE-2,660 65 | (#E5)  m=2,860 665 553? 2,660 5450] 6105
1 3,285 1,165 B ’ 109 3,285 1,165 s I 3,285 1,165 B
W= ~ e 0-)- A = )~ 2P D= )b-h = eI )—h
QRESALY | Bhaos H2ESAY Bhans <LEESAY EYETT
2,169 )i 1,525 2 k7277 WA EKER 2 TR
§: ]/ 30 . aus 20
25
b L SLsRaThETORE 2 5 I
N 7
£% Y49~ ~ =] E=INEN N6 am
5 o0 R D B = i Bl T
24 | s0h 5 DTl 450 GrtR-HIES) = == = -
B [SLHS) [ 4508540 (ZEORI-HAGE) B — [_J L r L u 8
WA W60 | BAEE) BRAE RRR) BHIm w408 300A940 1U<EENARNISTATUARTD) = 2 g o g = 5| w=lg0
W e 0REE3MSY 58940 ILE-T02 B+C@ #I45A(2 )7 - RAILEI A WAt C S = s - o o i
— » - e Zv¥ 1 T T T T T T T T O
R4 o260 | A2 Giawasn K4 o230 a7 (anaen BEIA - \ o Fiams el i [ [ Ies | [ [ = i
§z | bRl &z |2 LRHLI TR # /1R 6 125 0 S| 7oam | WA - — s s
AENYY 9 1-U7 AR (AR K2V IML-FAKETOTD TLC3L R i | 305x120x10 4 1 ks i s) = 4 F
1993-4B757\2 (RREER Seo-bsh THWACCE 254K TSIBIAL L1 H S
T EET LSRS0S FEASIMH=FLHITIS B0d AOEENT " g i S EGRA faE 3 B 5
754 KGR A02Sm =l T T il A S| S S IR s 2 125 65 5% o2
797 3 3-20x20x0.8 itkeET-rt125 1 /l T | 1o
gEeS— 05 \ s rort=10 [ <
oo | b
EURA) 3413008 | ‘ "
L L2
— Bro-9-2] SUSEETIHTVIS0 AT FL-20 - |
itk frhyE ‘ 40 * : KANESDSBHIS 1185 11120 Iy
\ \ : Gro-5-3] Sro-i-4) B
‘ 11— H4S0H \ WSO E FAE S
| 7 IRN-HDIS) (7 KIRN-HABG) S
45 42 81 /5 2
I ' ~<
5
‘ N
itk - K12.5+LGS65 489.5+L6S65
L3 L4 — BEEE- 105 110
LGS i HRt6
) ) 55 12.5 30 ANAEL10
k2% iz 57 B e
\ \ — or - Er9-4-k] 10, 745 [T 57 10
. = o HAEB125
5 Bir-rtle.
545 612511 65 LGS kB isn HAEEF-FH2S J 5*
o 2[L6S
oo
S 03151 ) <l
o o =
o . 1= ! 10 ]
k- K125+ AR0.5H6565 | 74 HMESHAR-F12.5+L6965 i3 3:30:0; N } \ E;
Taat=! ol 1
- ' - 5Rt95 42 | 45
S 1/ h WEER FH25
— 95 b 12.5
(525 h38 (A958)]
4795




